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DSPA 11-1 Radial 110 1.83m 0,50 m 0,25m 0,05 m
DSPA 11-2 Radial 170 244 m 0,50 m 0,25m 0,05m
DSPA 11-3 Radial 300 2.44m 0,50 m 0,25m 0,05 m
DSPA 11-4 Radial 900 3.05m 1,0 m 0,50 m 0,15 m
DSPA 11-5 Radial 1400 3.66 m 1,0m 0,50 m 0,15m
DSPA 11-6 Radial 2300 3.66m 1,5m 0,75m 0,15 m
DSPA 11-7 Axial 520 3.00 m 1,5m 0,50 m 0,10 m
DSPA 8-1 Axial 3250 3.00m 1,5m 0,75m 0,15 m
DSPA 12-1 Radial 15 - 0,08 m 0,03 m 0,01 m
DSPA 12-2 Radial 30 0,81 m 0,15 m 0,08 m 0,02 m
DSPA 12-3 Radial 55 1.99m 0,25m 0,10 m 0,03 m
DSPA 12-4 Radial 110 1.99 m 0,30 m 0,15m 0,05m
DSPA 12-5 Radial 5 0,53 m 0,08 m 0,03 m 0,01 m
DSPA 2-4-1 Axial 1600 3.00m 1,5m 0,50m 0,15 m




